BHARAT COKING COALLIMITED

(A subsidiary of coal India limited)

OFFICE OF THE CHIFF GENRAL MANAGER

W.J. AREA, MOONIDIH, DHANBAD

Ref. no WJA/MND/tender/5 2009-2010/ 29 44

date: 17.08.2009

TENDER NOTICE

Sealed Percentage rate tender on above/ below basis in two parts (part i & ii) are invited from experienced and eligible contractors for taking up the following work.

Na	ame of work	Estimated	Earnest money of est. cost	Cost of tender	Time of completion
1	Construction of p.c.c pavement in side G .M bungalow of W.J.A moonidih	2,59,468.50	2,595	100	1months
2	Construction of P.C.C road from area office towards washry of moonidih (up to filter plant) W.J.A moonidih	4,87,916.04	4,880,	200	1 month

Tender paper will be issued from 28/08/09 to29/08/09 during office hours. Tender will be received up to 31/08/09 up to 11.00 A.M

Eligibility criteria:

- The intending tender must have in its name experience of having successfully completed similar works during last 7(seven) years ending last day of month previous to the one in which bid application are invited (i.e. eligibility period) should be of the following:
 - » there similar completed works each costing not less than the amount equal to 40% of the estimated cost or
 - » two similar completed works each costing not less than the amount equal to 50% of the estimated cost or
 - » one similar completed work costing not less than the amount equal to 80% if the estimated cost.
- Average annual financial turnover civil work during the last 3 (three) years ending 31st march of the previous financial year (i.e. during 2006-07 to 2007-08) should be at least 30% of the estimated cost.
- 3. Intending tendered should submit permanent account no. issued from I.T. government. Also the tender must be registered with the appropriate state government Authority n accordance with sales Tax clearance certificate for the last financial year or the last assessment whichever year should accompany the tender.

- 4.1 Similar works means: P.C.C works
- The tender documents can be had from the office of the A.C.E W.J.Area, BCCI, on deposition of requisite coast of tender paper in form of cash with cashier, W.JArea Moonidih from 28/08/2009 to 29/08/2009 during office hours.
- 6. Completed sealed tender documents (part I & ii) Technical/ Commercial bid (part I) & price bid (part ii) should be submitted at the time. The tender will be received up to 11.00 A.M on 31/08/2009 in the office of the A.C.E, W.J Area, and Moonidhi and will be opened at 11.30 A.M on the same day in presence of the intending tendered or their authorized representative. Only part I will be opened on 31.08.2009 .Part ii will be opened only after the department is satisfied that the criteria fixed are fulfilled and also the earnest money is deposited i.e. on acceptance of part I.
- 7. The management of B.C.C.L, reserves right to any rejects any or all the tenders without assigning any reason whatsoever and to split up and distribute the work amongst the tenderers.
- 8. No tender will be issued or submitted by postal means.
- The earnest money should be deposited in form of bank draft of a nationalized bank in favor of "Bharat Coking Cole Limited" payable at Dhanbad. The earnest money is to be deposited as per detail given in the tender documents.
- 10. Conditional tenders will not be accepted.
- 11. No material will be supplied by the department for the work and will be responsibility of the contractor for procurement of the same at his own cost.
- Issuance of tender documents does not mean that the parties are considered qualified. Late or delayed tender shall not be accepted.
- 13. The experience as given in the eligibility criteria should be in the name and style in which tender in filled. The experience in the name of some other firm / company will not be considered for this purpose.
- 14. The validity of the tender will be 120 days from the date of opening price bid or revised price bid if any.
- 15. The work will not be subject to any arbitration.
- Contractor has to abide Central Labour Regulation Act, 1970 & allied Labour Laws amended up- todate.
- 17. Income Tax &Sales tax will be deducted as per rule.
- 18. a) Declaration regarding Genuineness of the documents submitted and not relationship in B.C.C.L in original.
 - b) Declaration that they havde not been banned or de-listed by any Govt. Or Quasi Govt. Agencies or PSU's should be submitted along with the tender documents in part-I

Area civil Freder W.J.Area, Moonidih

Distribution:

- 1. The Executive Director (VIGI), koyla Bhawan, Dhnabad
- 2. The G.M., W.J. Area, Moonidih.
- 3. The G.M(const.)Koyla bhawan, Dhanbad
- 4. The Dy C.M.E/So(min)/AFM/ACE/Sr. Cashier, Moondih
- 5. The A.C.E (area No I & xii), PB. Area, bhalgore Area. Block-ii Area, E.j.Area
- 6. Project officer. Moonidih/MLD/Bhatdee/Lohapatti.
- 7. The public relation officer/ Manager PR Deptt, KB, B.C.C.L for information & publication in B.C.C.L web site.

BILL OF QUANTITY FOR CONSTRUCTION OF PCC PAVEMENT IN SIDE OF GM BUNGALOW OF WIA:MOONIDIH

Sl.No.	Description of works	Quantity	Unit	Rate	Amount
1	Cement concrete(1:2:4) in pavement in required slope etc	51.92	Cum.	3638.55	188913.51
2	Centring & shuttering of foundation base	29.75	Sqm.	119.25	3547.68
3-	Earth work excavation foundation trench in O/soil	1, 12.50	Cum.	103.40	1292.50
4	P.C.C. (1:2:8) in foundation	2.05	Cum.	2296.15	4707.10
5	Brick work with cm.(1:6) in F&P complete with 50-sub designation	8.40	Cum.	2007.15	16860.06
6	Brick work with cm(1:6) in S/S with 50-sub designation	14.31	Cum.	2242.80	32094.46
- 7 , .	Brick bend projection 5 cm./7 cm. With cement mortar(1:4) complete	57.60	Mtr.	5.99	345.02
8	12mm thick cement plaster with cm(1:6) complete	152,03	Sqm.	67.65	10284.82
9	Colour washing two coat over one coat white washing on new work	153.00	Sqm.	9.30	1422.90
- 1		Total	17.38	Λ	259468.05

Add % above/below of the estimated cost

AREA CIVILATION WIA MOONIDH

Signature of the Contractor Name & Address



BILL OF QUANTITY FOR RENOVATION OF PCC ROAD FROM AREA OFFICE TOWARDS WASHERY OF MOONIDIH (UP TO FILTER PLANT), WJA: MOONIDIH.

SI.No.	Description of works	Quantity	Unit	Rate	Amount
1	Cement concrete (1:2:4) in pavement in required slop etc. including finishing complete	131.73	Cum.	3638.55	479306.19
2	Centring & shuttering in foundation base	72.20	Sqm.	119.25	8609.85
	, , , , , , , , , , , , , , , , , , , ,	Total		1	487916.04

Add , % above/below of the estimated cost

AREA CIVIL ELONGER WJA MOONDIH

Signature of the Contractor Name & Address

